80T=6 XTL 66=6 XTT 06=6 XOT 18=6X6 TL=6X8 €9=6X{C
HG=6%X9 Gh=6XG 9E=6XH (T=6%XE 8I=6XT 6=6XT

1X9=9 2X9=18 3X9=27 §¢X9=36 SX9=4¢5 6X9=5¢
7X9=63 8X9=72 9X9=81 10X 9=90 11X 9=99 12X 9=108
| T L% mf.w,_f Y,\
80T=6 XCT 66=6 XTIT 06=6 XOT T8=6X6 TL=6X8 €£€9=6X<L
HG=6%X9 Gh=6XG 9IE=6XH (C=6%XE 8I=6XT 6=6XT
L s. = LM, %?s -~ .w;,
1X9=9 2X9=18 3X9=27 ¢X9=36 S5X9=¢5 6X%X9=5
7X9=63 8X9=72 9X9=81 10X 9=90 11X 9=99 HNX@ 108
7 %%.swm ,‘,
| T L% mf.hm,_f Y,\

80T=6 XTL 66=6 XTT 06=6 XOT T8=6X6 TL=6X%X8 €9=6 XL
HG=6%X9 Gh=6XG 9IE=6XH (C=6%XE 8I=6XT 6=6XT

F \f.,\ ,“. ‘#.w 300" &m_wwme_& mmm
VA0 | sinoorsselokewiid e aldeliene suoissan aldeapT oRs 03 3 403 PUBCISIM 343 03UO *m 3
e sjoeq sdel3 ay3 plo (€ 3s4m e puno4e pued ay3 deum (¢ tsdeld o5o) Sse1D Aewid 4.,\\ ,qW
242 40 9pISLBPUN 3U3 ANIS "SPUBd BU3 SURIND 48348 (T :SPURCASHM 9says ayew ol & ;,.,UV



